SECTN-A
Question number 1 t0 16 are Multiple Choice Question and each carries 1 mark.
L Viroids, the smallest known agents of infejous diseases : vl
(i)  are comprised of small single strang,qy RNA molecule
(i)  lack capsid
(i)  have no proteins associated with the,,
(&) (i) and (ii) only (b) (1) émd,(iii) only
(©) (i), (ii) and (iii) (d) (i) and (iii) only
2" “Kelps' is the term used for giant : 1
(a)  green algae (by brownalgae
(c) redalgae ' (d) blue-green algae
1

3~ Consider the following four statements whether they are correct or wrong:

(A) The sporophyte in liverworts is more elaborate than that in masses”
(B) Salvinia is heterosporous
(C) The life cycle in all seed bearing plants is diplontic

(D) In pinus male and female comes are borne on different trees.

The two wrong statements together are :

(a) (A)and(C) () (A)and (D)
(© (B and(C)7 (@ (A)and(B)

4.~ In coelenterate which of the following is used for anchorage, defense and for the capture
of prey. | 1
(a)~ Cnidoblasts ' (b) Hypostoma
(c) Polyp (d) Medusa
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50 Biological concep! Ofspects :’ m;imy bageq on 1
(3) morphology and met '0 5 OLTeprodye,ion
(b) methods of reproduction only
(©) morphological features only
(d) reproductive isolation
/ water vascular system is found in : 1
(2)  Porifera (b) Mollusca
(c) Apes : ' (d) Coelenterata
'/ Zygomorphic condition can be representeq 4 - 1
(@ @ (b) %
© P @ G
&/Gasparian thickenings are found in cells of : 1
(a) Pericycle of the root (b~ Endodermis of the root
(c) Pericycle of the stem (d) Endodermis of the stem ‘
9.  Compared to those humans, the erythrocytes in frog are : A
| (a)  without nucleus but with haemoglobin
(b) nucleated and with haemoglobin
(¢)  very much smaller and féwér
(&) nucleated and without haemoglobin
f)} Lysosomes are formed by : | 1
.~ (a) endoplasmic reticulum | (b) mitochondria
(¢) golgi bodies‘ ~(d) both (a) and (¢)
¥~ Cytoskeleton is made up of : 1
(a) Proteinaceous filaments (b)~~ Calcium carbonate grounds
(¢) Callose deposits (d) Cellulosic microfibrils
s
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. . one of the following cellular parts jg correctly described? 1
“ .

(V:)h | Thylakoids — flattened membranoug sacs forming the grana of chloroplasts

(b) Centrioles — sites for active RNA SYiihesis

(c) Ribosomes — those on chloroplast are [arger (80s) while those in the cytoplasm are

smaller (70s)
(d) .Lysosomes— Opﬁma“?’ active ata py of ahout 8.5

For questions No. 13 to 16, two statemengs are given — one labelled as Assertion (A)
and the other labelled as Reason (R), Seject the correct answer to these ‘questions

from the codes a, b, c and d as given below:

(a) +Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of the Assertion (A).}

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct

explanation of the Assertion (A).

(c) _ Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

Assertion (A) : Systematics is an important branch of biology. 1

~ Reason (R) : Systematics names the organisms and divide them into groups and sub-

groups according to set rules to make their study easy. &

14}/ Assertion (A) : Majority of dinoﬂageilates are planktonic and cover the surface of water
)( 5

-

body. a7 O 1

Reason (R) : Gonyaulax groups in abundance over sea surface and make the sea appear

red and cause ‘red tide’.

Assertion (A) : An ovul% is transferred into a fruit after fertilization. 1
@)

Reason (R) : The fruits are formed only after fertilization.
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/ Assertion ( A) : A plant cell does not SWeu it purst if placed in a hypotonic solution. 1

Reason (R) : R1g1d cell wall does not let the " ant cell expand.

SECTIgy.B

what is the major function of (i) Cutyy (ii) Suberin (iii) Wax (iv) Lignin in the
cell wall?

2
a) Name the organism that ig p o components which live together in
symbiotic association. Also name the gwo cOMponents. (e 2

(b) Give the function of each Component

i
VD@% briefly the four major groups of protOZOa W1th example of each group?

—\

L (@)\ Define Symplast and Apoplast pathways? ~ ¢l

i _,9/ Which organism remains associated with coralloid roots of cycas? What is the nature of
association and what functxon does the Organism perform. inside the cycas roots? 2

21,7 Draw a well labelled diagram of V.S. of maize seed? e

SECTION-C

_2}/ Give a one word scientiﬁc term for the following : ' 3
¢)  Blood filled cavity in arthropods ‘~—) p(umxm
(#y Excretory organs of an annelid - Nep bt di 4
(iiy Free floating form of Cnidaria =2 M Qd)kU.\ q
@v) Stinging cells of jelly fishes™—) N U‘(\M)Q}.d/g.u
vy individual anirrtals bearing organs of both sexes 1o dnede-a
(Vi) A collection of nerve cells bodies - A el LG

23,/ Describe the important characteristics of gymnosperms.

3
24— Define Phyllotaxy? Give its types with one eXample of each. 3
ﬂ el s 0y ele ey L
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(i)  Below is a list of plant fibres. From Which part of the plant these are obtained:
i
(@)  Coir

(b)  Hemp
(¢) Cotton
(d) Jute
(ii) Write the precise function of
(a) Sieye tub
(b) Interfascicular cambium
25.  Describe the dioestive system of frog. ot , 3

2@/ Name the two cell organelles other than nycleus wWhich have their own DNA. Describe

about the various types of 1eucop1asts ‘ ; 3
fof:\ Explain the structure of Nucleus. o : :
%”8:{/ Write a short note on the different —fypes of vacuoles in the cell with their functions. 3

SECTION-D

Question number 29 and 30 are case-based questions. Each question has sub-parts
with internal choice in one sub-part.

Cell is the fundamental structural and functional unit of all living organisms. According

&

to modemn form of cell theory, all organisms are composed of one (Unicellular) or more
(multicellular) cells and all new cells develop from the pre-existing living cells by
division. Cells are of two basic types : Prokaryotlc cells and Eukaryotic cells of these, the
former are morphologically the most primitive cells. 4

D In Prokaryotes, cell wall is made up of which material.

@iy List atleast two main features on which is classification of cell based between
Prokaryotes and Eukaryotes.

a8
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.Ch IS a PrOkaYYOte giant?

ar W

is the term blue-green al
(‘1\4 Why 1855 gae Wplieg to few species of prokaryote?

OR

Name atleast two blue-green algaey

O/Bryophytes are fundamentally terrestriy| plants and usually grow in moist and shady

/ ) ,
places. They grow densely together ang form green ¢ carpets or mats during rainy season

on damp soil, rock, walls, bark of trees and on decaymg logs on forests. This life span of

pryophytes consist of two. distinct phases — (1) the ganetophytic phase, and (ii) the

sporophytic phase. The gametophytes are ejther tha1101d or 1eafy shoot having stem — like

and are replaced by unicellular or

central axis and leaf-like appendages. Roots are absent
iy 4

multicellular rhizoids. These do not have vascular tissues.

iy~ Why are bryophytes called as ‘The amphibians of plant kingdom’?

()/ What is peat? Have is it formed?

()" Why is sphagnum used as packing material for trans- _shipment of living material?

_ Iike and leaf — like structure of moss plant not called stem and

(iv) Why are the stem

leaves?

OR

/Nhat are Rhizoids and state their function?

SECTION-E

31. (i) Define inflorescence. Describe its two types with example of each. 2
‘ (i) On the basis .Qf ‘position of ovary describe the three types of flower and with

example of each one. 70 >¢ 3
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pefine the ‘[’ollowing : OR
: Exarch and Eng..
i ndare :
(1) \darch C‘mdllion of 1x5=5
T ais a2 MOty yfem
(i) Stele and Vascular bund|e oKy
(1i1) Pr’otoxylem and Metaxy]em
(1v) Interfascicular cambium apg i,
m and mira{amw]ar cambium
(V) Stem hair and root hajr
: _— | i
32 (11/ On the basis of shape and form, ®XPhain the various types of bacteria?
(1) Explain the three phases of sexyy] "eproduction in fungi? Z /)I)
OR |
& g d
(1) Write atleast six distinguish features between class Rhodophyta (Red algae) an3
Chlorophyta (green algae).
2
(ii)  Differentiate between chordates and non-chordates. (Any four)
, ‘ : es of
3377  On the basis of position of centromere. Explain the various typ :
chromosomes?
2
(i)  Who proposed cell theory? Write the main points of the cell theory.
OR
: in this model of cell
(i)  Who proposed fluid mosaic model of cell membrane? Explain this )
membrane. P o 1
(i)  Differentiate between RER and SER. s |
&
2
’-_’
o
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